SN RS0
HH: S48 M4, RS Y YH(SHHSLM/SY -5

1]

)

SRl oAt ES (9 8Q)
SN -EH.SR(E) - NEANY B oiasl - p o BEE | Wasd

S0 41,674,704 37,241,665 4,433,039
= 3,023,512
Xl 254,000
Il 4,712,000
T 33,685,192

SN2 Ma, S - 0IHE 23 (sHNSSM/52 -5 41,638,786 37,201,765 4,437,021

)

= 3,023,512
Xl 254,000
| 4,712,000
T 33,649,274

20 a0t E S 9,699, 150 10,810,750 21,111,600
= 1,656,000
Il 2,798,000
= 5,245,150

ANEWBEATND 583,500 591,000 A7,500

202 O H| 3,000 3,000 0

01 3L GibI 3,000 3,000 0
OANEEH & Molsx RFA 3,000

403 XXl EHMI S X201 & 580,500 588,000 A7,500

01 AXIHMRE2BEXE 580,500 588,000 A7,500
OALRH &ZMA 75,000
OHIdot*A 8Us 487,500
OZEFEC MM J|Etx Y 18,000

MAR =3 tF ML 1,722,200 1,747,000 A24,800

202 OH| 3,000 3,000 0

01 SLHOIHI 3,000 3,000 0
OLHXITHA HHMA ARFEX 3,000

307 2izZtol ™ 800,000 0 800,000

02 QIZHEMAIHEX 800,000 0 800,000
OMMLAE =3A4FXN2 ZLXNA 800,000

308 XSO0l 469,200 494,000 224,800

01 IXCHBAEXES 469,200 494,000 224,800
OXHAHHSLA 469,200

403 RMXIEHSA=0/H 450,000 450,000 0

01 AXESHA2EE 450,000 450,000 0
OLAERYHZE 84 150,000
OALLEANLRUESHXNEH 300,000

LS MMA - RE 1,701,750 1,487,550 214,200

202 o4l 3,000 2,000 1,000

01 =W 0l 3,000 2,000 1,000
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2A: RS20
Y 42 44, RS- 0BIE (ML /=2 - 5&)

BHSl: ROIADIBIEY (Et51:&3)
gL = ‘:"“’,‘: | Of i = Q : 4 :ou HEE 7 e -
] On+ad g ~ —3.00]
403 XHXIEHHI S RH2 01 & 1,698,750 1,447,750 251,000
PG PETES 1,698,750 1,447,750 251,000
OWM+FHHARD 135,000
O+ MsEAI| X 190,000
SUSHH MK 202,500
OWLHES NFAL 206,250
OANBHENAZTH 735,000
ONEE 4 JIA0IH HLAL XY 200,000
OB+ BYFH XY 30,000
CIRNIETE S 48,000 48,000 0
202 o4 Hl 3,000 3,000 0
NETCE 3,000 3,000 0
OUAAMIIBIEN HAREX 3,000
308 XtXIEHHI SOl & 45,000 45,000 0
01 HRESHPANEES 45,000 45,000 0
OOl AHEI 22 TH b 45,000
SRFYH D 22,500 18,000 4,500
403 Xt XISt HIS KH2 0l 22,500 18,000 4,500
01 ISR E 22,500 18,000 4,500
0OBE MY JlERE 22,500
NS0 s X2 (ALRS 03 (2D) 2,337,400 3,718,000 21,380,600
J| 1,798,000
[ 539,400
403 XX SHHSKHZ0I® 2,337,400 3,718,000 £1,380,600
J| 1,798,000
3 539,400
01 ISR E 2,337,400 3,718,000 21,380,600
NEENETE! 2,337,400
p) 1,798,000
= 539,400
NS0 BOSH KR (DFHIOH MHEAIZ)(22) 291,200 0 291,200
pJ 224,000
=S 67,200
403 XHXISHH S AH2 0l & 291,200 0 291,200
J| 224,000
55 67,200
01 ISR E 291,200 0 291,200
ODZEHIJH THHHAIL 291,200
J| 224,000
[ 67,200
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2A: S0
FH: SAE ML, S5 - 08 2 (sEHlLsA/sY - 55)
oG JAoArEIIErE Y CEERED

LOEE LR é‘é%i'(‘itlﬁil) : ‘HI-%A},EC-;EQQ | ol &b

=o =0t OO B2 B ALUNEZNENR ) (= 1,010, 100 1,346, 100 336,000
)

= 777,000
[ 233,100

403 RXISHS K20l & 1,010, 100 1,346, 100 £336,000
= 777,000
= 233,100

01 X SHHA=EE 1,010,100 1,346, 100 336,000
OSANUKEAALR 1,010,100
= 777,000
[ 233,100

S0t HUXIOIEESSH(ATHMHHXIAL)(ZD) 598,600 0 598,600
= 529,000
[ 69,600

403 THXISHHSAH=0IR 508,600 0 508,600
= 529,000
= 69,600

01 RHXISHXEEE 598,600 0 598,600
©4! THA Ofl L1 K| Al & X| & 598,600
= 529,000
[ 69,600

HeREHHTE(2D) 351,000 316,800 34,200
Il 292,500
[ 58,500

403 RXSHMSKHEO0I & 351,000 316,800 34,200
Il 292,500
= 58,500

01 XS 2L 351,000 316,800 34,200
O XIH S A& 351,000
p] 292,500
= 58,500

HEeREMHPS(HSLE ) (2D) 19,800 0 19,800
Il 16,500
[ 3,300

403 X+XIEHHIS XH2 0| & 19,800 0 19,800
Il 16,500
= 3,300

01 MXSHRESE 19,800 0 19,800
oON2+E NS 19,800
p 16,500
= 3,300

DLMMALEUS KR (ZD) 39,000 68,900 £29,900
bJ 30,000
= 9,000

403 RIS SKH=0I & 39,000 68,900 229,900
b 30,000
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2AM: RESR0L
HH: SA2 MM, RS- DY YSHSEHLLM/S2 - 52)
SR |0AdDIEtES (28R
2N FE.O9(B) - IRAMY - BES o & o4 v B HRE2
01 AXESNAE2EE 39,000 68,900 229,900
OM+=NEHANLESEUS 39,000
| 30,000
= 9,000
SEEXES MEEUE XA (=21) 496,600 351,000 145,600
| 382,000
& 114,600
403 RXISHH S K20 496,600 351,000 145,600
| 382,000
< 114,600
01 AXSHAEE X 496,600 351,000 145,600
OHA, 28 MUAIE St X 104,000
| 80,000
= 24,000
OQUMTHHIAIE SIS X 392,600
| 302,000
o= 90,600
020k ICT 828 XN&(=1) 71,500 590,200 A518,700
J| 55,000
T 16,500
403 XIS SX=01&E 71,500 590,200 A518,700
Il 55,000
T 16,500
01 XIXISMR22 X 71,500 590,200 A518,700
OAE 2UEZ0E ICT 58 EAAMY 71,500
Il 55,000
== 16,500
g2 ISHYH 84 X (=31) 406,000 406,000 0
= 350,000
== 56,000
403 XSS K201 406,000 406,000 0
= 350,000
T 56,000
01 XISMA2EE 406,000 406,000 0
oYXE ZSAYNSLN 406,000
= 350,000
== 56,000
SAERSHHE L SNE RERINHM 4,505,985 2,386,985 2,139,000
= 650,000
| 1,914,000
T 1,961,985
SSNMNSEZEN 170,500 169,000 1,500
202 ol 5,000 5,000 0
01 SUAHI 5,000 5,000 0
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A SEUD
B B2 MM, RE- 0PI 23 (SEHSLM/SY - 5E)
OY: SAEBRSEMS Y SN2 REIXNM (Er9): E8)
SA-EH . G9(8) - NEAY - BES | oao S9a | Haze
o=sdzmeERy gexd 5,000
307 212101 ® 100,000 90,000 10,000
04 BB AA Y BT 100,000 90,000 10,000
O=SME TP L JIYSB 100,000
308 XX £ S0 & 25,000 10,500 14,500
B P 25,000 10,500 14,500
OZECAY 2AXE 10,500
OZZIA HESNES HFLAN XS 14,500
403 XHXI &M S XHROI W 40,500 63,500 £23,000
01 XIS =S X 40,500 63,500 223,000
OSUTCAY ALEHIXE 18,000
CETP L 22,500
NXREIBES 701,500 543,000 158,500
202 OfHl 3,000 3,000 0
NETET 3,000 3,000 0
ONIIRE JPEs QL= 3,000
403 XHXIEHHI S XHO0| ® 698,500 540,000 158,500
Of XIS =E S 698,500 540,000 158,500
OUNRE NEAE 595,000
O=NE BRT XY 45,000
O=HE REAL ZHIXE 3,000
OsNE QEBR BBIH U 22,500
s4esSaSUEMEHSY 200,000 200,000 0
201 Lere et 2,000 2,000 0
01 ARl 1,000 1,000 0
OWUBHH AV 2 1,000
2 2Ze 1,000 1,000 0
ONBHEH WA A 2H| 1,000
202 01l 2,000 2,000 0
METTL ' 2,000 2,000 0
ONBME YPEW 2,000
308 XX EHHIS 01 & 196,000 196,000 0
10 2| ZS OIS E A=A A 196,000 196,000 0
OLACEL+SNSAEBHEH 2 196,000
AHINRERAS 153,000 123,000 30,000
202 0 Hl 3,000 3,000 0
NETTT 3,000 3,000 0
OAHINRERMS U2 =X 3,000
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g2 S0
HH: 2 Ma, 25 - 01E L3 (sHNSSA/sY - 58)
ool SAESEHHS U 42 SEITNM
 2A- @ﬂe S5 (8H) - NS A - Egg 0l & e
307 BI2t01 ™ 150,000 120,000 30,000
02 QIZHAMAH B X 150,000 120,000 30,000
OsAEHEOANE XA 150,000
SESHEHI(2D) 842,985 842,985 0
= 650,000
== 192,985
308 AHXIE XM SO0l H 842,985 842,985 0
= 650,000
< 192,985
01 AXSHHMBAEEZ 842,985 842,985 0
(OF==Fak=-}:] 842,985
= 650,000
= 192,985
sMS0EXRJ(EE)(=2) 150,000 144,000 6,000
| 75,000
< 75,000
307 212+01™ 150,000 144,000 6,000
Il 75,000
== 75,000
02 QIZHFMAMNYES 150,000 144,000 6,000
OsMENANEXRA(RE) 150,000
| 75,000
= 75,000
SASOBIEXNRA(XE)(=21) 90,000 77,000 13,000
Il 90,000
308 AHXI XSO0l & 90,000 77,000 13,000
| 90,000
0 HXSHHIANSES 90,000 77,000 13,000
OsASOHE XA (XIE) 90,000
| 90,000
AXIREANEXA(APC)(Z2) 2,098,000 288,000 1,810,000
Il 1,749,000
= 349,000
403 XXM S X208 2,098,000 288,000 1,810,000
| 1,749,000
= 349,000
01 AXISHMAEE X 2,098,000 288,000 1,810,000
OAXIRE A& X (APC) 2,098,000
Il 1,749,000
o= 349,000
E4T BN g4ds X 120,000 0 120,000
307 @lztol & 120,000 0 120,000
02 QIZHHMANYEE 120,000 0 120,000
OEAT HUEHE XA 120,000
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SA: RS0
I siE MM, )& - 0BIE 2&(s =i/sg - =E)
C}°|: sASME=H (9 3e)
= qo =2 o EL:"E : =24
sABMYsd 1,448, 141 3,891,377 A2,443,236
= 582,512
Xl 254,000
=S 611,629
SHEEESY 40,000 40,000 0
307 glz2+ol ™ 40,000 40,000 0
04 QIZIHALAE E X 40,000 40,000 0
OAlZE &S HIKE 40,000
SASNMY 245 KR 300,000 240,000 60,000
403 XX &M SAH=01™ 300,000 240,000 60,000
01 AXISHMA2E = 300,000 240,000 60,000
OsASAMY 48 12 240,000
OZd dSF &g Z¥H H 45,000
O%Ax JISAE & 15,000
SaESSE 85,500 75,500 10,000
201 Er24| 30,000 30,000 0
01 At 22|l 30,000 30,000 0
Os+Stte 2s0ta g8 30,000
202 044l 4,000 4,000 0
01 =oALl 4,000 4,000 0
OSABETOIE XA 4,000
308 XA SOIH 51,500 41,500 10,000
01 AIXSHHMBAEXS 51,500 41,500 10,000
OsMESATLIM 29,000
OEXMBEASHXIZ 22,500
NoadatA M4 (=20) 330,200 1,391,000 21,060,800
Xl 254,000
== 76,200
403 [t XISHHSXHZ0lH 330,200 1,391,000 21,060,800
X 254,000
= 76,200
01 AXIGAMI2E 330,200 1,391,000 21,060,800
OXNEH%ASMASH 330,200
| 254,000
= 76,200
GAPRIZS =0 EH Ml X (=1) 146,041 170,777 224,736
= 134,512
=S 11,529
308 XXt S01& 146,041 170,777 A24,736
= 134,512
< 11,529
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M RS
B SU2 4N, RS- 0BIY LB SPHSYSL/5Y - 5E)
SR SABAYSY
SA - SR(30) - MEAY - B ol 24 - =2
Of X SHAYEES 146,041 170,777 224,736
OGAPRI Fi50 O E 2 AHIXI 2 146,041
2 134,512
== 11,529
GAPAIE E2H(21) 100,000 87,000 13,000
= 100,000
408 XIS H S RHO0I B 100,000 87,000 13,000
3 100,000
01 AXSHMA2EE 100,000 87,000 13,000
OGAPAI S B2t 100,000
= 100,000
FAX GP EFS4 24(ID) 446,400 360, 100 86,300
2 348,000
= 98,400
308 XXX S0l ™ 446,400 360, 100 86,300
2 348,000
& 98,400
01 HXISHBLSES 446,400 360, 100 86,300
OFMT G EYBL B4 446,400
2 348,000
= 98,400
P 270,000 270,000 0
= 135,000
= 135,000
AR AMEDS(2D) 240,000 240,000 0
2 120,000
S 120,000
307 212H0I & 240,000 240,000 0
2 120,000
= 120,000
02 LABAMNLEE 240,000 240,000 0
OXIXH AMEDSAY 240,000
3 120,000
= 120,000
SABANEAH(2D) 30,000 30,000 0
2 15,000
= 15,000
307 2I2H0IH 30,000 30,000 0
2 15,000
= 15,000
02 LABANLEE 30,000 30,000 0
OSAE ADE 4] 30,000
2 15,000
= 15,000
SHDIA PLSNME B3 25,695,510 19,842,653 5,852,857
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2A S0 L
BM: S M4, BE - 0PIZ 2 =)
o©el: suga 2asME 22 Ce M)
* R B =
- } OH .
- ddn 0l &0
'_ . : i e L . _-_| = .
NME stugal B2l 332 25,695,510 19,842,653 5,852,857
202 G H| 5,000 5,000 0
01 = LHO{HI 5,000 5,000 0]
OsME ASBASDIA 5,000
308 A RISHHSOIHE 25,690,510 19,837,653 5,852,857
01 AXSHHBAEEXZ 25,690,510 19,837,653 5,852,857
Orlgd sngal X 23,461,824
OREE =48 & 2,228,686
HY2EHHI(FSA0 ) (IIEHIIE 35,918 39,900 3,982
Al 35,918 39,900 A3,982
N2 JI244| 35,918 39,900 23,982
201 B2 HH| 23,318 24,900 21,582
01 At 22l | 23,318 24,900 21,582
ENEZ AIR22it] 23,318
202 ¢4l 9,600 10,800 21,200
01 =LHOHI 9,600 10,800 21,200
2EA2% SUHbI 9,600
203 PR F=&H| 3,000 4,200 21,200
EA2GLRFAH| 3,000 4,200 21,200
©15921 0I5t 250,000& 128 3,000
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